

53	$\begin{cases} 1-x \leq 0 \\ 2x-3 > 0 \end{cases}$	$S =] \frac{3}{2}; +\infty [$
54	$\begin{cases} 3x+9 \geq 0 \\ 5x+10 < 0 \end{cases}$	$S = [-3; -2 [$
55	$\begin{cases} x + \frac{1}{5} < \frac{2}{3}x \\ \frac{3}{4}x + \frac{1}{2} \geq 1 \end{cases}$	$S = \emptyset$
56	$\begin{cases} 2x \leq \frac{3}{2}x + 1 \\ \frac{3 \cdot (1+x)}{2} - x \geq \frac{5}{2} \end{cases}$	$S = \{2\}$
57	$\begin{cases} \frac{1-3x}{10} + x > -2 \\ \frac{x-1}{2} < \frac{2}{3} \cdot (x+2) - 2 \end{cases}$	$S =] 1; +\infty [$
58	$\begin{cases} \frac{x-2}{2^2} - \frac{2 \cdot (x-1)}{3} < -\frac{1}{12} \cdot (x+9) \\ \frac{2x-1}{3} + 3 > \frac{x+4}{2} \end{cases}$	$S =] 5; +\infty [$
59	$\begin{cases} \frac{1}{2} \cdot (3-x) + x \geq \frac{1}{3} \cdot (1+2x) \\ \frac{1}{6} \cdot (x-1) - \frac{1}{2} \cdot (x-1) < \frac{2}{3} \end{cases}$	$S =] -1; 7 [$
60	$\begin{cases} 2 \cdot (x-1) - 3x < 6 \cdot (2-x) \\ 4x - 2 \cdot (x-3) < 3 \end{cases}$	$S =] -\infty; -\frac{3}{2} [$
61	$\begin{cases} (x-3) \cdot (x+2) < (x+2)^2 - 15 \\ 2 \cdot (1+x) + 1 > 5 + 4 \cdot (1-x) + 4x \end{cases}$	$S =] 3; +\infty [$
62	$\begin{cases} \frac{(1-2x)^2}{4} \leq (x+3) \cdot (x-2) \\ \frac{x+1}{3} + 2 < x - \frac{x-3}{2} \end{cases}$	$S =] 5; +\infty [$